Geometry Honors Name VU/V(\)/

Worksheet — Sections 5-1, 5-2

1. Find the measures of the other three angles of a paratielogram if one angle measures
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7. I.nparallelogmm ABCD, m Z ABC =3x- 12 and m Z CDA =x + 40.
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9. Inparailelogra.mABCD,BC=9y+10,AD=6y+40, and AB = 1/2y + 50. M__/
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11 }.nparallelog:'amABCD,mADCB=a+12andmACDA=4a+18. Find the v
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12. In parallelogram ABCD, AB=4x+y, BC=y+4,CD=3x+6DA=2x+y. Find B _4e4 ¢
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13. In perallelogram ABCD, the diagonals intersect &t point E. AE = 5x -3 and
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14. In parallelogram ABCD, AB =2x +y, BC=x*+ 2,CD=x+12, and DA=y+6. B xy2 &
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